
  

 1 m² = ? dm²



  

Correction :

 1 m² = 100 dm²
m² dm²
1 0 0



  

Calculer :
98×45+98×55



  

Correction :

98×100

98×45+98×55
98×(45+55)

9800



  

12 boîtes de haricots verts 
pèsent 18 kg.

Quelle est la masse 
de 18 boîtes ? 



  

Correction :

12 boîtes 18 kg

6 boîtes 9 kg

18 boîtes 27 kg

÷ 2 ÷ 2

× 3 × 3



ML² = …..... + ….....

Voici un dessin codé à main levée.

M

L
A



  

Correction :

ML² = MA² + AL²

C'est l'égalité de Pythagore.



…..... = OB² + ….....

Voici un dessin codé à main levée.

B F

O



  

Correction :

OF² = OB² + BF²

C'est l'égalité de Pythagore.

B F

O
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